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OAAE L HEUE R/WII(ECO)
2,900,000 *7CH*7% 1,421
OAMNE L HEUE R/WII(BIB)
2,780,000 *2CH*7% 390
OANAE L UHEME R/WDI(BIB)
2,600,000 *6CH*7% 1,092
O XIIHE D |(Ax3)
19,500, 0002 * 7% 1,365
@ISR DI(EE)
13,800,000 *7% 966
O XIICHELIE DI (ENEIR)
18,000,000 *7% 1,260
OIDIHESEI|(2E,8Y)
23,324, 0003 x2CH*7% 3,266
O AN ZAXAAH (U2, &d)
8,900, 0003 *2CH*7% 2,646
O N ZAYUXAIAL(EHSIR)
12,000,000 *7% 840
O A BHUTAAL(SH Bta)
15,600,000 *2CH*7% 2,184
O A ROIXSEED| (A=)
27,000,000 *7% 1,890
O A2 2AZEN |AI22IU] 11,238
Q@SS (HOIZESRE, JMAX S)
27,500,000 *10% 2,750
SNl Z2 S (K.LAS)
6,302, 160& *7IH 2=+ 10% 4,412
@X0ISAHHIA
2,310, 8403 *7IH 2% 10% 1,618
SNZAMAIAE(K.CMS, 33)
1,650,000 *10% 165
O A MAIAE(K.CMS, &2)
990, 0002 *7IH 2% 10% 693
@BEHEZHE 16,000,000 *10% 1,600
OSeEAM& Feld RREH| 6,600
@A HAHAAE R 2
150,000 128 1,800
QL ZEHICIXL! SX 2=
400,000+ 128 4,800
OS2 oH&H| L AMAE SXE=H| 1,417
OPN(HOISMHEIAR)
2,090,000 *7% 147
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A WX
Y ZTCAT 2E L 29
Hel: SSEAM2 245t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OPN(t=== &d HalR =2, 205)
10,583, 4003 7% 41
O\PN(2E, 514, &t A)
1,740,400 *3CH* 7% 366
OUIERD ARIX(RE)
843,000 * 7% 60
OUIERT AAX(RE A&HH)
495,000 *2CH*7% 70
OULIERT ARIXI(&H)
470,250 * 7% 33
OXE24a HMMEH A 2=H| 6,243
03 ASLS 2,000,000 *10CH*7% 1,400
OUIDEZRIE (A2 S24)
2,000, 0002 *2CH*7% 280
OUIDEIRIE(RF)
1,140,000 *7% 80
OHIDEZEIE (AA)
1,235,000 *7% 87
OU=EUZE, 0IBXE C
1,500,000 *38CH*7% 3,990
O AMEHII 5,800,000 7% 406
O=cld =ISAHA 0182
55%%12,0004 660
ORQIBHIAAY S8
210,000&* 122 2,520
OIS AIHIOIH =AI2cl|
190,000« 128 2,280
OATE AlE ==4&H| 1,000,000 1,000
OtZ &I 2,200
oZza U Lol oX At
5,0002 *1607K 800
@A) FA 70,0002 *20CH 1,400
03 A2 I 8,000 8,000 0
OEAM2t =2+ AL 1,000,000 1,000
O=K2 & A 1,000,000 1,000
Odd olzst 24t 6,000,000& 6,000
202 O4H| 800 800
01 2L A 800 800
OSHBRS U oixgl &4
400,000& 400
Od= =A2UE &It 400,000 400
203 HR=H] 310 310
03 A=A PR 310 310
OFAHGR= 310,000 310
301 EtE2 N = 34,640 39,120 A4,480
14 0Bt 243 34,640 39,120 A4,480
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A XA
Y ZTCAT 2E L 29
&t SSENS 2435 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O=SA2s2a 28 2M= 29,840
OF LI 2AM=Z
120,000 4Z* 103 x4=2 | 19,200
OXEMSHEILH AR
120,000& x25+53] x4F | 4,800
OYsE2d 2Az
100,000 *35*43] %20 | 2,400
ONMEE s+ L TH2AS 2AMZ
100,000 *103]*27| 2,000
O=Nz Z2At= 120,000& 123 1,440
O&alb| 24t 4,800
ORESA A2 A
10,0002 +2Zx202 * 12 4,800
405 XHebE S| 48,000 28,000 20,000
Al 20,000
- 28,000
01 XML =EFSHI 18,000 0 18,000
O=R0I8HST| WP
18,000,000 *1CH 18,000
02 SA7LHI 30,000 28,000 2,000
O=N 7 12,5003 *2,400 30,000
Al 20,000
- 10,000
SM2 EA5) 75,750 60,550 15,200
Al 15,200
- 60,550
201 LEr2 | 4,630 4,630
01 At 22|l 630 630
Oger243| 630
O NM22IRIR3 fI &Y
70,0003 9% x 13| 630
03 A2 | 4,000 4,000 0
ONSETHE NNZS0 AAsing (Ol
A3t 2,000,000 *23| 4,000
202 04d| 810 810
01 =WOdbI 810 810
OR=EA2 22D 810,000& 810
203 R &I 310 310
03 Al Z=AIHSZ=XY| 310 310
OFRAIMARFX 310,000 310
301 LPENZ 4,000 0 4,000
Al 4,000
14 JIEt2 43 4,000 0 4,000
OX2EAZ SANESEE T2 2AZ
4,000,000 4,000




A WX
Y ZTCAT 2E L 29
el 33cA2 243t EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,000
307 21201 & 28,000 16,800 11,200
Al 11,200
- 16,800
02 LB HANHEE 28,000 16,800 11,200
OAtel M2 A2 243t XA
16,800,000 16,800
OS2 MZ TA7SHl K
11,200,000 11,200
Al 11,200
405 AHatE = 38,000 37,500 500
02 =A bl 38,000 37,500 500
A2oM2 &N FY 38,000
OAHFEAZ TN F
12,5003 901 4602 x4 =2 D | 27,000
Os, IMM2EMAZ EX 7
12,5003 * 1104 %202 #42 | 11,000
A2oA2 29 825,39%6 830,903 25,507
101 @124H| 536,507 568,127 A31,620
M IRINZZENSES 536,507 568,127 A31,620
=oe 224 461,570
oJlzs 76,9602 x26EH x 124 248,120
ONM=Z(FF=L, i, IHEx)
138,778,000 138,778
O=RUHI(nSHl, S4Hl)
10,0003 x26F 124! 32,240
O42EI 2R = 42,432,000 42,432
O=4e 22X 29,529
OPJ== 76,9603 x2H 104 16,008
ON=E(FF=<, diixg, IIEE)
8,829,000& 8,829
SUH(WSHl, S4181)
10,0002 x2& 104! 2,080
O4EE) 2R = 2,612,000& 2,612
O=2g 22X 45,408
oJlzs 76,9603 x6 & 50! 23,088
ON=g(FF=<, dX=g, IEE)
15,403,000 15,403
ORUHI(RSHl, S4Hl)
10,0003 6 x50 3,000
O42EI 2R = 3,917,000& 3,917
201 Ler=23 | 161,929 142,696 19,233
01 AtR2telHl 66,134 47,828 18,306
(@)1= pogestall 26,558
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A WX
By DooAZ 2E Y 29
©el: SSEAZ 2435 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNEZANZ 2IHI(FTFLUARE, ZA
SRS 60,0003+ 1304 2+ 123 9,360
OEME2IEE 7E
50,0003 * 137 A 650
OSAM RFIDER D 3503 *4,0000H 1,400
OEAN =HES 1,000,000& 1,000
CEVELE RIS
1,000 *300 0H*9IH A 2,700
O&FIIHIE =2l ¥ A2FHI
90,0003 *137H 2 1,170
oslaz2II| oI
100, 0003 * 1 IH*9IH 2 900
031AZLEI| AT T(22IL)
33,0003 x2&+90H A 594
NEEE
20,0003 x25*13 %42 | 2,080
oS D=
8,0002 x35+8IH A 123 2,304
O=AM2t & 80,0002 x20JH 2 +23] 3,200
O8N JHHE 45
3,500 x200m’ 700
o2 2eldl 200,000 200
ogalts YLl 25,0002 124 300
OSEEAZ A 012
1,750& 7,200 12,600
Oogxz 26,976
OF=J| L= 50,0002 «12CH* 122 7,200
O=A| Sxts 200,000 +7CH*12& 16,800
O3J188J| Sxt=z
31,0002 +8CH* 12 2,976
02 S3=gHl 95,795 94,868 927
OsE2= & HA 80,107
OFSpIes=; 300,000 #1304 A 123 46,800
oot Ra 10,0003 * 1O Ax 128 120
OQHY 2=
30, 0002 *2CH* 130 A% 123 9,360
ORFHANAY BEE
100,000& 1204 2% 123 14,400
oRER= 30,0002 12 360
O A2 HH&ZY S K2l
85,0003 %1974 A 1,615
OZctRE(k-las) MHIA AHEZ(HA)
828,000 *9IH A 7,452
OAlZ EHIs Xl 15,688
OS A2t LelHIoIE RXI2teldl(EiaR)
150,000& * 12 1,800
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A WX
Y ZTCAT 2E L 29
o SIS 2435 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=AZ =2AIE R 24|
2,000,000& 2,000
082 KX 24| 1,000, 0002 1,000
OZHT HAFH| 22/H]
1,000,000 1,000
O£ =S A2 HELHM SHH|
120, 0008 122 1,440
O&EAM2t &I ot BA
88,0003 *8IH A x 128 8,448
301 22N = 126,960 120,080 6,880
14 0Bt 2as 126,960 120,080 6.880
OXESAAF &Hl 24 55,440
OTHE - 2 N2
10,0002 x2&#21L* 11 Ax 128 55,440
OSH2212% ZAt= 71,520
OHHET A2 AL HAIZ
100, 000& *8IH A +25+82|+42 | 51,200
OAALTNT SHEHUT AR
100, 000& 500 A+ 15482 #4Z J| 16,000
OBALTAB YHSY AAZ
100,000 »2H 2 +33] %27 1,200
OAHHTHT HBESHDA U TAD
A8t UAIE
100,000& *20H A +53] %27 2,000
ORO0PI= Y0 SASSZ2 ] ZA
= 140, 0003 x 10 2+ 15+23] #4Z2 J| 1,120
St A JHZAIRZE AE XIEAY 356,507 36,052 455
= 15,000
- 20,507
101 @124H| 35,507 36,062 455
= 15,000
- 20,507
04 JIZtN2Z2 XS+ 356,507 36,052 455
Ooltzd 29 35,507
CP==) 76,9603 x2H 124 19,087
= 15,000
- 4,087
OM=€(F5, dX, &)
10,676,000& 10,676
ORUHI(RE, S4HI)
10,0002 x2& 124 2,480
OCAUES I 2RE= 3,264,000 3,264
HFHES St 78 22 58 7,063,811 10,249,563 A3,195,752
Jl 570,928
Al 578,619
- 5,904,264




A WX
M Jgdss Sg 728 2 S
Cel: MEtds M & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MEXHS N =t 1,685,646 1,464,284 221,362
Jl 493,318
Al 214,399
- 977,929
MEH S XA XA 363,280 344,370 8,910
7l 163,440
Al 94,720
- 105,120
307 21201 & 353,280 344,370 8,910
Jl 153,440
Al 9,720
- 105,120
02 2B YAIHE A 363,280 344,370 8,910
OUEMSX =Xt HHXIAHS
35,328,000& 10 363,280
Il 153,440
Al 94,720
- 105,120
Hzdldsgs N2 142,152 138,588 3,564
Il 61,376
Al 37,888
- 42,888
307 elzto| & 142,152 138,588 3,564
Jl 61,376
Al 37,888
T 42,888
02 2B YA HE X 142,152 138,588 3,564
oozdl Msgs N3
35,538,000 x4H 142,152
) 61,376
Al 37,888
T 42,888
MEHS 223 243 97,249 88,249 9,000
Al 22,112
- 75,137
307 gl2to| & 97,249 88,249 9,000
Al 22,112
- 75,137
02 QB AANEER 97,249 88,249 9,000
OdzH=us 24 2,108,260« 15& 31,624
Al 16,812
- 15,812
O0lgl0l s 4,320,000 4,320




A WX
N JSAES S8 20 AL =X
Bl dEXNS MY = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,160
T 2,160
OFaxY HaEua 4,320,000& 4,320
Al 2,160
- 2,160
Oo¥=MsUs 1,320,000 3% 3,960
Al 1,980
- 1,980
OHICOIE R 29
3,400,000 * 1500 2 51,000
(OF = Fes 1,012,5002 x2& 2,025
HEHSEH A 213,445 211,997 1,448
307 @I2t01 & 213,445 211,997 1,448
02 QB HANSEER 7,000 7,000 0
OHM=FIo & AL 7,000,000& 7,000
03 LM EE2SHIEX 206,445 204,997 1,448
Oos+Hd=3 A=A 206,445
oelAdl, 284l S 206,445,000 206,445
MEHSUH2 X 241,660 234,080 7,580
201 er23| 16,840 18,360 A2,520
01 AtR2t2|HI 15,840 18,360 2,520
OzS dEHsdA 2SR
10,000,000 10,000
O3 &=zl Mzl X
1,250,000 42 5,000
ONSHEES AN 28
70,0002 *12H 840
203 =4l 720 720
03 A=A PR FZ| 720 720
OFRAHGERF 720,000& 720
307 212+01& 225,100 215,000 10,100
02 LB HAHEE 225,100 215,000 10,100
OFHZu SFEU=2 X2
4,750,000& »202] 95,000
OSHH= & SIEU= NE
20,000,000 20,000
OAI M=l HILXIE 80,100
o=gXd=2 39,530,000 39,530
04, Yl e g
55,0003 420 23,100
(COESSE-INEEE 5,000,000& 5,000
0S4z B3 LA
5,000,000& 5,000
OJIEHZHI(AEl, 88 S)
2,470,000& 2,470
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2A:

N JSAES S8 20 AL =X
ol dEHE MY 2N EER=E)
SA - ZE - B2A(30) - HRA - B of v e HIDE2
ozrFdUz(2EFE XI¥)
500,000 * 107 2~ 5,000
Od=Us &It X 1,250,000& * 162! 20,000
os+=2t & 10,000,000& 10,000
ARXAHOISH XNE AL 397,860 204,000 193,860
7l 278,502
Al 59,679
- 59,679
307 @I2to| & 397,860 204,000 193,860
Jl 278,502
Al 59,679
- 59,679
02 2B YAIHE A 397,860 204,000 193,860
OAE=ARO0ISH At
95,0002 *349H 122 397,860
Il 278,502
Al 59,679
- 59,679
HEHNE S22 2dzt 30,000 33,000 A3,000
307 @120l & 30,000 33,000 A3,000
02 QB AANEER 30,000 33,000 23,000
O0iZ24! BH=RIE 2 3,000,000& 3,000
oozl - o8 HiLIA T2l
4,000,000 4,000
OB =03l 3,000,000& 3,000
OSAZAOIN s&J12 g
10,000,000 10,000
Oss3 gdst Z2d X
10,000,000 10,000
S8 7 M= 180,000 180,000 0
307 elzto| & 180,000 180,000
04 CIZHHAMAIH 2 & 180,000 180,000
OsXE&E? M=t 180,000
osXE= 10,000,0002 %13 130,000
Ootial24| 50,000,000 50,000
EESF "Hazdgeldl 30,000 30,000
307 glztol & 30,000 30,000
04 QIZHHAMAIH 2 & 30,000 30,000
OBXES+ tiatd el
30,000,000& 30,000
HSAE elxet 25 4,807,079 8,274,146 N\3,467,067
Al 250,000
- 4,557,079
HEAE R 2 1,510,290 1,313,740 196,550
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2A:

M JgdEs Sg 722 A S
ol MSAE Xl 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 37,071 38,287 A1,216
M ORINZZE2NSES 37,071 38,287 A1,216
OMSAIE= RA&e] 2 12| 37,071
oJlz=s 79,6703 x1&H*249 19,838
(OF = ils 79,6703 x1H+126 10,039
OJIEg 120,000& x 1= 123 1,440
o=RUbl(nsS, =4l)
10,0002 x 12 #2409 2,490
I EL P
272,002« 1H =122 3,264
201 et 3| 67,781 78,307 /10,526
01 At2t2l] 37,060 53,910 216,850
ER=lest=all 5,060
ONMSAE FX2el a2 s 7
500,000 500
OANE=0l8 & 2t E2 &9 XX
60,0002 *102] 600
OM=AIZY S=U =283 4
330,0003 204 2+63] 3,960
O=%Xl HE= 8,000,000& x4= 7| 32,000
2 s5=34l 30,721 24,397 6,324
O332= % HAl 30,721
OMSAIAL &)1
70,0003 1504 2% 123 12,600
OMSAIEY dot==R=
200,000 x204 2% 123 4,800
OMSAEU sS4z
50,0502 123 601
OREFY S 83,3302 122 1,000
OMSAIES+U =EBA =2
350,000 20 2+ 13] 700
OM=AIE2= SH =t 10,000,000& 10,000
OSH==01E FXH IV &
30,0002 x 12 360
OSd==01E =AY HHEA HER
55,000 * 122 660
202 04l 810 810
01 SLHoIH 810 810
o220l 810,000 810
307 el2tol & 12,000 12,000
05 2I2tRIE =S 12,000 12,000
OMSAIE &34 SHE23H|
500,000 #2042+ 123 12,000
30 HES 1,056,628 1,061,336 A4,708
01 SAL- SHEYEES 1,066,628 1,061,336 A4,708




of
i’
oF
uJ

-

KIO

Hlw

232,000
80,000
30,000

232,000

30,000

50,000
50,000
13,000
13,000
13,000

3,000
3,000
3,000

A312,031

MEE
Ofl &k2h

104,000
104,000
134,940
104,940

4,000

100,940

30,000
30,000
21,000
21,000
21,000

20,000
20,000
20,000

43,000
43,000

905,717

Ofl &F2H

899,930

1,056,628

156,698
336,000

4,000
214,940
134,940

4,000

336,000
332,000

4,000

130,940

18,000
110,000
1,440
792
708
80,000
80,000
80,000
34,000
34,000
34,000

4,000
30,000
23,000
23,000
23,000

3,000
20,000
593,686
43,000
43,000
43,000
20,000
20,000

- SRA(E) - HIRAY

- ESS

S - B

899,930,000&

ANEE)

=

=

S(UE A

cltl

cltl

I,

£l
KD

(©Fd]

401 Al HIZL S 0HYI

3

156,698,000
332,000,000

2,000,000 +2

ONMSAIE M=%

01 A&l
01 AF22t2ltl
OTHETH

ny
R

ol

KO

-

B

1o

H

=l

2,000,000& *2

30
i
Mo
[0

18,000,000

110,000,000&

66,0002« 122
80,000,000&

120,000 ~ 128
59,000& * 122

OrI=2=01E AlE e

o3

01 A=l

401 AIZHIY 20

30
0K
[H0
M0

4,000,000&
30,000,000&

Oo&II3

30
0K
[0
[0

o
O

i

3,000,000&
20,000,000&

80
0H
[0
Mo

1,000
1,000
1,000
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M nsXn

M JgdEs Sg 722 A S
ol MSAE Xl 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
309 dE= 550,686 862,717 A312,031
01 SAL- SHEYTES 550,686 862,717 A312,031
O=cA2e|BE HES(E2=01E 29) 550,686
g 2el| 469,019,000 469,019
ozZtE2ell 81,667,000 81,667
sS-38Y 29 2,121,163 2,064,473 56,690
309 HES 2,121,163 2,064,473 56,690
01 SAL- SHEYTES 2,121,163 2,064,473 56,690
O=AlZelss &S 2,121,163
oxg2elt| 1,806,594,000& 1,806,594
ozg2elt| 314,569,000 314,569
Bietd =X Abiiia =5& 4X 310,000 0 310,000
Al 250,000
- 60,000
401 AIEHIZ SR 0HYI 310,000 0 310,000
Al 250,000
= 60,000
01 A&t 310,000 0 310,000
O3 EX AHIIERTY HX
310,000,000& 310,000
Al 250,000
- 60,000
Zoie! M= 43st 561,086 511,133 49,953
Il 77,610
Al 114,220
- 369,256
ZOHA S F X A+ BHXIAFS 70,456 68,994 1,462
Jl 30,528
Al 14,131
T 25,797
307 elztol & 70,456 68,994 1,462
Jl 30,528
Al 14,131
- 25,797
02 2B HAHE L 70,456 68,994 1,462
OYHAHEMFN =X BHXIALS
35,228,000 x2& 70,45
Jl 30,528
Al 14,131
- 25,797
ol MM X2 57,335 56,694 641
307 glztol & 57,335 56,694 641
02 LB HAHE X 5,000 5,000 0
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A WX
N JSAES S8 20 AL =X
Rl FO0He! ME 243t EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHOHIHHERIEE UolE2d HoHH=2
L= 5,000,000& 5,000
03 PIHHEE 22X 52,335 51,694 641
Os&M M=3l X3 52,335
oelAdl, 24gHl S 52,335,000 52,335
na2s IR 24 345,035 354,845 29,810
Al 90,000
T 255,035
201 er23 | 11,400 11,400
01 At2teltl 6,000 6,000
O&E=2 M= 500,000 * 122 6,000
02 S3=gHl 5,400 5,400 0
O332= MAl 5,400
OZ=s=4 2l 100,000& «12& 1,200
Od===2 22l 200,000 * 122 2,400
O AIAAEZ 150,000& « 12& 1,800
202 04t 1,620 1,620
01 =LHOHI 1,620 1,620
Ozl 1,620,000 1,620
301 Eet2 NS 332,015 341,825 29,810
Al 90,000
- 242,015
Rzt - 2SFSEd=S 332,015 341,825 29,810
O HIHHERIBHAEE 29 332,015
@) 229,846
0Z= 4,487, 1602« 12+ 123 53,846
0L+ 3,291,660 «4F« 122 158,000
Al 90,000
- 68,000
O (X=HH)
300,000 x5 122 18,000
O4UEE JI2ARE3(ES)
5,762,000& 5,762
OCAUEE J 2R (d=)
19,157,000& 19,157
OXIEX &=l 300,000& x1H~12& 3,600
otz =a| 22,000,000& 22,000
(OFSPNEIS ]| 2,500,000& *23] 5,000
o8 % L=l 6.000,000& x6H 30,000
otalZxa= 2,000,000 *62 12,000
odxdEel= 600,000& %52 3,000
O2etE+etl 100,000 62 600
OSAHI 30,0002 x5 & 72| 1,050
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2A:

M Jgdss Sg 722 2 S
chelr ZoHe! X 435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZoHe! MEM=UH XA 21,000 21,000
307 elztol & 21,000 21,000
02 2B YA E X 3,000 3,000
OZofe! 3=zl X
3,000,000 3,000
04 QIRHHAMAIH 2 £ 18,000 18,000 0
Oo=8 OetEtizl 18,000,000& 18,000
FHAAEZZHO|SH KH AL 67,260 9,600 57,660
7l 47,082
Al 10,089
- 10,089
307 @I2to1 & 67,260 9,600 57,660
Il 47,082
Al 10,089
- 10,089
02 2B YAIHE £ 67,260 9,600 57,660
OZOQAEZATOIZH K& Ate)
95,0002 x50 122 67,260
Il 47,082
Al 10,089
- 10,089
Y =S 3 146,423 180,463 24,040
olE2gt(nSXI&) 87,863 86,431 1,432
el 24| 87,863 86,431 1,432
101 @124H| 87,863 86,431 1,432
01 &= 67,273 66,198 1,075
Ozxu=z2e=g 67,273
OAIZRZRE
12,3212 #35A12H+ 138123 67,273
02 JIEtME = 20,590 20,233 357
OxuU2R=E 20,590
OAIZAZ 24 (IIH 63)
12,3213 x3BAI 21+ 123 5,175
QAIZAZ 24 (IIM 73)
11, 1302 +30A1 2+ 1H* 123 4,675
OAIZIIZ2Z(LIIN 88)
9,902 «35AI 2+ 18~ 123 4,197
OAIZR4S (AN TH)
11,1303 »18AI 2t 1= 123 2,405
OAZIZR4=S (AN 2t=)
9,902 x18AI2Hx 18123 2,159
OAIZtR 2R (AR EH DM OH=)
9, 160& *18AI 2t 1 * 123 1,979
Jl=23HI(nSX2 1) 58,560 64,032 NDb,472
Jl=2&H] 58,560 64,032 NDb,472




A WX
B sm2o2Ay|
Sl J|2gHI(LSXIAD) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 20,760 19,992 768
01 At2teltl 20,760 19,992 768
OJlE A2l 21,0002 x18F 122 4,53
O=gH| 13,824
os2xAIAY)
8,000 x 18 +8A!x 122 13,824
ogxz 2,400
OSAPI itz 200,000& «1CH*12& 2,400
202 0o4dl 34,560 40,800 26,240
01 =LHNHI 34,560 40,800 A6,240
OZtUoHI(ZH)
20,0002« 182+ * 12 34,560
203 =48] 3,240 3,240
M FA2HARFAI 3,240 3,240
OJIEH (20 0l5tH) 300,0003 x 122 x90% 3,240
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